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Réponses

1. 9.75

2. 4.83

3. 6.2

4. 3.7

5. 2.75

6. 4.65

7. 8.7

8. 6.35

9. 5.61

10. 9.8

11. 2.12

12. 3.58

13. 2.6

14. 6.88

15. 2.26

Trouvez la valeur de X pour chaque chiffre. Chaque chiffre est en centimètres (cm). Pas à
l'échelle.

1) area = 68,5425 cm2

7.03

X

2) area = 46,5612 cm2

9.64

X

3) area = 39,246 cm2

6.33

X

4) area = 11,285 cm2

3.05

X

5) area = 23,8425 cm2

8.67

X

6) area = 25,668 cm2

5.52

X

7) area = 78,126 cm2

X

8.98

8) area = 17,145 cm2

X

2.7

9) area = 33,099 cm2

5.9

X

10) area = 72,52 cm2

7.4

X

11) area = 15,688 cm2

7.4

X

12) area = 29,356 cm2

8.2

X

13) area = 11,96 cm2

4.6

X

14) area = 66,048 cm2

9.6

X

15) area = 6,1472 cm2

2.72

X
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